
1

iを虚数単位とし，α =

√
2(−1 + i)

2
とする．このとき α2 = (エ) であり，α211 =

(オ) である．
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【答】
(エ)

−i

(オ)√
2(1 + i)

2

【解答】

α =

√
2(−1 + i)

2
であるから

α2 = 1
2
(1− 2i+ i2) = −i …… (エの答)

α4 = (−i)2 = −1

よって

α211 = α4·52+3 = (α4)52 · α3 = (−1)52 · α2 · α = 1 · (−i) · α

=

√
2(i− i2)

2
=

√
2(1 + i)

2
…… (オの答)

• α =

√
2(−1 + i)

2
= cos 3π

4
+ i sin 3π

4
であり，ド・モアブルの定理を用いると

α2 = cos
(
2× 3π

4

)
+ i sin

(
2× 3π

4

)
= cos 3π

2
+ i sin 3π

2
= −i

α211 = cos
(
211× 3π

4

)
+ i sin

(
211× 3π

4

)
= cos

(
158π + π

4

)
+ i sin

(
158π + π

4

)
= cos π

4
+ i sin π

4

=

√
2
2

+

√
2
2

i


